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NEB - GRADE XII
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Accounting
(New Course)
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Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 3 hrs. Full Marks: 75
e Wemhl IO¢ R | (Attempt all the questions)

e ‘@ (Group 'A")

afg direr STUCHE TEAe® (Very short answer questions) [19x9=11]

;1

T FHEIAT T & TR 7

What is statutory company ?

QAT S % 2aeT THEE oo e |

State any two types of preference share.
et gwafera 4 g JaTe® gaad TEM | (List any two items of fixed assets.)
forfrr STt %7 qEaeT HHEE AETE |

Write any two limitations of financial accounting.
feaT sty @<t 7 Geeid@ e | (Mention the meaning of fixed overhead.)
FaIEa VST T & T3 /

What do you mean of centralized store.

AR ST YT B 3292] PIREE® Jooid e |

State any two advantages of time rate system of wages payment.

UH T UaaSH SRAT deery |

Write about MS-Excel.

% ¥,000 AR ATSTATE ATST @9 A&t GHETT Fae! TaTE TR |
Prepare the adjustment entry of pre-paid rent expired of Rs. 5,000,
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1041'B’ (2)
q0. fe sTaTdaT e feciir PRaTaaIaT TR WA IOET TR |

Calculate the amount of cash from financing activities from the following

information.

fgaor (Particulars) 2015 (Rs.) 2016 (Rs.)
AT g5ft (Share capital) 2,00,000 4,00,000
YA (Debentures) 1,00,000 50,000
ATATET SRt (Dividend paid) - 20,000

9. IiE AR TSEAT & T T MHasadt AEeT IRHTT 3,000 .91, § 9 qiftie qreHToT
TAT ATG AR I |

If number of order is 6 times and Economic order quantity is 3,000 kg.
Find out annual requirement.

T @ (Group 'B")
e ITTcH® JYME® (Short answer questions) [Ex4=Y%0]
93. USET HFIHIT & §00 i AT a8t 90 Wiaerd genT (MFTard Yohrl T4

T ¥,000 f&@T AEE T T |
A company issued 5,000 shares of Rs.100 each at a discount of 10%.

ATGET |19 (On application) Rs. 30 per share
FreHISHAT (On allotment) Rs. 40 per share
gy a4 Afraw fe=mET (On first and final call) Rs. 20 per share

9,000 ferer afiT ArEew W ST T Siswhie feTam afaEr |

Applications were received for 7,000 shares and allotment were made as

under :

3,000 fHag@Ts (2,000 applicants) 2,000 share
¥,000 fHaT&TE (4,000 applicants) 3,000 share
4,000 frag®ats (1,000 applicants) Nil

ATAETHT I AET THA ATSHISAT AN T foviar i | qer feareer <@ AT
AT T AT 7T T 300 FoaT JT 1 Qaoren WAk efvtier yow e it e
THH FThT T |

It is resolved that the excess amount paid on applications is to be adjusted

against amount due on allotment. All money were duly received except a
shareholder holding 300 shares, failed to pay calls money.

HH: (Contd...)



3) 1041'B'
TR THe| (Required): [3.4+3+9.4]
A, Fighie T A [T TEEeE

Entries for Application, Allotment and First and Final call.
93.(1) TIET FHAI &. Y,%.0,000 HeoHT e wwafa @f 74T |
A company purchased the following assets at an agreed price of Rs. 5,50,000.
e (Plant) Rs. 2,60,000
9@ (Building) Rs. 3,65.000
TTh GRE T 90 WereTe AR TEIT £.900 ST R e Tl siErr afEn
The company paid the agreed price by issuing shares of Rs. 100 each at
10% premium.
TR e (Required): [4+9]
T @feg qar S frspremar sty
Entries for purchase of assets and issue of share,
(I1) FFIHI & 900 T ¥,000 HUGHEE aAfcbad HedAHT FH 74T | ff HTHEE Y
aY qfg Afaiees 90 Faed g9 X fhdi 747 |
A company Ltd. issued 4,000 debentures of Rs. 100 each at par. These
debentures were redeemed after 5 years at 10% premium.

@R T4 (Required): 3]
FIE A4 T et TeEEE
Entries for 1ssue and redemption of debentures

9¥, Ul FFATS! (e e faer frerer e g

The following financial transactions of a company is given below :

faoT (Particulars) % (Rs.)
9@ AseTd (Opening stock) 2,00,000
@i (Purchase) 17,50,000
Pt @@t stTeT (Carriage inward) 40,000
F@MT 8 (Factory expenses) 4,00,000
At fawr SR (Pre-paid insurance) 50,000
a9 (Salaries) 1,75.000
H9S= (Stationary) 25,000
fa# (Sales) 25,00,000
9Sit (Capital) 3,00,000
FATHHET ST (Interest on investment) 2.00,000

FHA:(Contd...)



1041'B’ 4)
a9 sM& (Additional information):

i) @t @t (Closing stock) Rs. 2,00,000

iyt e ‘ﬂT‘FF'ﬁ = SFGAT (Pre-paid insurance expired) Rs. 20,000

i) U« A (Bad debt) Rs. 5,000
TR T (Required): [R+3]

a) SR fed® @aT (Trading Account)
b) TR @ @TaT (Profit & Loss Account)
Y. FFIAID! Grger e frear g :

Trial balance of a company is as under :

ferearor (Particulars) Dr. (Rs.) feaor ( Particulars) Cr. (Rs.)
@RT (Purchase) 17,000 | f&=t (Sales) 30,500
ST (Wages) 4,000 AT st
(Share capital) 20,000
AR (Machinery) 30,000 HT (Loan) 2,000
ATHTHT (Debtors) 8,000 AEe® (Creditors) 3,500
WTET (Rent) 4,500 | AT AEHH @TAr
(Profit & Loss A/C) 7,500
AHAT (Total) 63,500 63,500
99 SH&d (Additional information):
i) fae afer sa@I (Outstanding wages) - Rs.1,000
i) AT FEEE
(Depreciation on machinery) : @10%
iii) FEaTtaT AT (Proposed dividend) : @10%
TR e, (Required): [4]
#4 [gar (Work sheet)

9%. ST STAH! & B 2 T ! ATITCAT ANTT qH1HLTS! SATEAT THR | [R43]
What 1s cost ? Explain the classification of cost on the basis of element.
qe. (I) e Had & T & TFAE-g, []]
What do you meant by material codification.
(1) TICT FFITRT T AT W= HFeAT T (G20 G
Inventories position of a company of last month are given below :
= (Chaitra) 1: ¥® HiseTd (Opening inventory) 650 unitsi@ Rs. 8
=4 (Chaitra) 6: &f@ (Purchase) 500 units@ Rs. 9

FH: (Contd...)



(5) 1041'B'
9T (Chaitra) 15: &M@ (Purchase) 800 units@ Rs.10

HIvaTae! TUHT &1 AiEATHT A=THT W40 THTS FAldl s | FIel ATafIS
AT YOIl G e |

The physical inventory counts at the end of the month shows 550 units on
hand. The company uses periodic inventory system.

AT ASTE. (Required): Ell
fersl el aTa T AT ASRTa®! AT (WH ARTHA F4H Freaprer fafiene)

Cost of goods sold and cost of closing stock under FIFO method.
9z. (1) et srardt feguat & | (The following information are given) :

gy ®rver Seured (Hourly production) 4 units
yfer wvar el (Hourly wage rate) Rs. 200
SHT Foured (Total production) 800 units

AT S (Required): [R]

AT STl (Total wages payable)

(I1) &Te T fawfa @ qoeT 1T 9 TeE® Sar o= |

On reconciliation of cost and financial account following facts were located.

CEE AR AL fereftr sram AT oET

(Heads of expenses) (Financial account) (Cost account)
Hed e &a (Depreciation) 65,000 85,000
Ff=w disama (Closing stock) 25.000 20,000
AT 9Tt (Dividend received) 5,000 =
AT @Rl AT AR
(Profit as per cost account) - 95,000

TR THerE (Required): Ell

AnTa qar faxira sraret fewme freme faawon

Reconciliation statement of cost and financial account

FHA: (Contd...)
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9R. o@T faftT aReaa<dr 79 AR | THeaaT WHIE &7 (1 FEaEe Aarel

TR |

[R+3]

Write the meaning of software in accounting. Explain any three advantages

of software system.

98 T (Group 'C")
faa SUUHF Wee® (Long answer questions)
0. UIRT FFAIH! TG IU 3] FHLHT Fegere T FEAE g

A trial balance on 31* Ashar last year of a company is as follows :

[¥x5=R¥]

[T (Particulars) Dr. (Rs.) Cr. (Rs.)
@i (Purchase) 3,20,000
q% e (Opening stock) 20,000
afyr fermr 31?1'7!"?[ (Prepaid insurance) 18.000
HTET (Rent) 36,000
aeld (Salary) 60.000
fersr e {Sales commission) 22.000
v T 39HLT (Plant & equipment) 3.00,000
FasTae (Advertising) 16,000
FETHEE (Debtors) 40,000
&9l (Interest) 10,000
TS q9T & Hiesrd (Cash and bank balance) 42.000
Sfers grafoee (Biological assets) 80,000
ST (Investment) 2,20,000
Ao g (Audit expenses) 34.000
T ﬁ (Share capital) 4,00,000
fert (Sales) 6,70,000
HIee® (Creditors) 30,000
FRTAT (Commission) 18,000
HUT (Loan) 100,000
SfHT (Total) 12,18,000 12.18,000

FA: (Contd...)



1041'B’ (8)

iv) AT At @8 (Additional purchase of investment)Rs. 1,25,000
v) A& STl (Tax paid) Rs. 35,000
vi) ST fl & 30,000 T @RT & ¥¥,000
Equipment sold Rs. 30,000 and purchased Rs. 45,000
Vii) STHTET Wl'vﬁ (Dividend paid) Rs. 45,000
TR e (Required): [¥+9.449.4+9]

e fafereeT SRART T T WaTe @ (Cash flow statement using direct method)

3R, TS @ JANTE! T TSI JeqET a1 fFea0r MTEn § ;

A food industry showed the following details of its production for the
previous year.

Y& 9rfiee (Direct materials) Rs. 1,80,000

e ST (Direct wages) Rs. 1.20,000
FI@EMT AYA @4 (Factory overhead) Rs. 60,000

FATT AYTN @9 (Office overhead) Rs. 36,000

TR | TSI AMT ST AT T AT (201 Hed ATHT T4 =g | TR
TSI TRT T ARTA AT (TR § -

The industry wants to estimate the total cost and its selling price for next
lot. The cost department estimated the direct cost as follows ;

A& A (Direct material) Rs. 40,000
TAe ¥ (Direct wages) Rs. 30,000
e [S2UH TIAT AT @AH! ASHIS TS |

(Overheads are to be allocated as below :)
HREMT ATAH G : T SATATH! ATETAT
Factory overhead : on the basis of direct wages.
FAAT AT @ : FIEMAT AR ATITAT |
Office overhead : on the basis of factory cost.
HATHT fersira®r 0% (Profit : 20% on sales)
TR THe|, (Required): [¥+¥]
a) T a9l ANTG 92T (Cost Sheet of previous year)
b) T dEaw! AT A9 Hed (Tender price for next lot)

)



